
 

 

Jude has a special ‘Multiplication Maze’ where 
there are lots of different routes to get to the 
finish square. 

 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 

1. Which route gives Jude the highest total? 
Down (x2) right (x2) right (x3) down (x1) = 12 

Jude has a special ‘Multiplication Maze’ where 
there are lots of different routes to get to the finish 
square. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1. Which route gives Jude the highest total? 
Right (x1) down (x3) down (x5) right (x2) = 90 

2. Which route gives Jude the lowest total? 
Any route which features (x 0) as the finish number 
will always be 0.  

Jude has a special ‘Multiplication Maze’ where 
there are lots of different routes to get to the finish 
square. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1. Which route gives Jude the highest total? 
Right (x10) down (x3) down (x4) right (x5) = 1,200 

2. Which route gives Jude the lowest total? 
The route which features (x 0) as the finish number 
will always be 0.  

3. Which route gives Jude the total of 200? 
Down (x 20) right (x ¼) down (x4) right (x5) = 200 

 


